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I.B f@B#T: z=3-2a+(a+6)i, HEEH: 3—2a=0:a=%,

2.C MBI -b=02m-2, m-2), 5//(2—1;):)»1><(m—2)=2(2m—2):>m=%.
3.A A DN =1{1, 2}, #(C,N)NM=1{1, 2}.
4.C fR¥T: a=3_%<3g=b, c=10g3l<log3l=0, sc<a<b.
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5.D f@##i: AD=AB+BD, AD - BC=(AB+BD)-BC=AB - BC+BD - BC=2 - 2 - cos 120° +

2 2
Z.2=-Z
3 3
Fia
sin(—= - 2)
6.D f##: tan@—cosz: 2 =tan(£—2), Eﬁ(9=£—2+k7r, Msin2 >0, cos2<0,
sin 2 T 2 2
3(5—2)

HOTER IR, Em:%—z.
7.C R YD AR Ry, T 2R R N &, JF!le=f(x0):1—x£, Ma< OB, k=1-

l1-a<0
a 1-2>9
=0 WO ek k, = =15 Ya > OB}, 2. 6 =3 <a<4
0
a
Egpard - 2)<-1
8.D f##f: xe(O—):>x+—e(1—”2 %) M(sm(x+—)—%, sinx + /3 cosx =2sin (x +

g):2sin[(x+%)+£]:rﬁ[sin(x+%)+cos(x+ll) /7( f W)fs

4
9.C fR#: A: a+b>a+l>2, i A IE T ; B: a>%=>a2>1:>a>1, BIiEHf; C: Ht

a=3, b%wz‘wﬁ@ CF L BCREIR . D: (a—b)+b

=(a -b)(l-*) >b,

a-b>0, b>é:>ab>1, ib<1:>1——b>0, D IERS .

10.A M. &MpEMNhTa-1>1=a>2; FMHqENMT2<a<3; il pRqULERTS
1

11.C f@#: (DA=(b-2)*-4b> 0,k (1) IEH;
(2) f(x)-ax=x*+(h-a-2)x+b=A=(b-a-2)-4b>0, ik (2) ki
(3) f(x)-x=x+(b-3)x+b, x, +x,=3-b>3, Hilt (3) IFHi;
(4) y=f(x)-x WP F HJE x, . x2:>f(xl)=x1:>f(f(x1))=f(x]):>xl:>f(f(x]))—
x, =0, Eﬁxlﬁl:f(f(x))—xlél"]%:)ﬁ, [F] 3, xziﬁi%f(f(x))—xﬂgzﬁ)ﬁ; (4) 1EHf.
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12.D @47 AATEANE T RSy, (e - 2)7 + (v - 2)? LR SO AT TP Y S
(2, 2) RS, H/MEH (2, 2)§UEé£x+2y—4=oﬁ@EEF:%é, W(x = 2)+ (- 2) e/
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13.0 <x <4 f&H#: log,x _ log.x _ —logzx ﬁﬁ@f%’tﬂ(jﬂ—logzx <3=0<x<4.
log,4
2

log, (a* + 12) >2 log,b - log,(a* + 12)

14.2 i1 +1 *+12)=1 +
ﬁg*ﬁ Ogab Ogb(a ) Ogab logab \/ a logab

=2 /Jlog,(a*+12), . 2 Jlog(a*+12) =4 = a*'-a-12=0=>a =4 = a=2.
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5. p B g(0) /() sg(x ) =f (50 (G0 =f(5-0) =~ (x-7),
/%x—%—t J”'Jx—t+%:>f(t+l)——f(t) K f (log,5) = —f (log,5 - 1)
—f(lom5 - 2) = f(log:2 ), 5 <2 Slog, T <5, . [ ) =2 - 1=

1 5 oy | 1
el H)-r{L o) (g) ol )l a1

16. log,,626, log,5, % AT H1451815 ., 10g,,626 < log,,625 = log,5, V2= 32525 =5, i
M/NBIRBJIR TR log,,626, logss, %

17.f#% . (1) f(x)=2sinx(%cosx—@sinx)=sinxcosx— /3 sin? r%stx—ﬁ (I = cos2x) =
sin(2x+§)—§, mgj/ﬁﬁT:_—ﬂ Fj(ﬁj\jl_T ....................................... 445

. T J3 ) b J3 T
(2) f(x)—sm(2x+—)———0:>sm(2x+—) Ny =sing ik 2 +§—§+2kﬂ:ﬁ7+
anzx—knjz + kil R SR A3 T % 7?”, ;-ujjg_“ .............................. 1043

18%747: (1) f(x)=7-5x-51nx

(x4 ) (x-1)
e

x>0, f/(x)=00f, x=1
FEDXIE] (0, 1) F BT I
EIXI‘EH(I, +oo)J:$iJ§jj$i, E&f(X)%/J\{Eﬁf(l):()- .......................................... 445

(2)f(x)=(x_a)x¢, a <O, (0, 1).I, fx)iB, (1, +oo) -, f(x)#H.

0<a<1if, (0, a) b, f(x)>0, f(x)HPPFEHE; (a, D E, f(x) <0, f(x) R HIRE;
(I, +o) b, f(x)>0, f(x) HHREHE.

a= 11, f(x)=(x"71)2>o, (0, +oo) b, f(x)lBaiEisg.

a>10, (0, 1), f(x)>0, f(x)NPPEWE; (1, a) b, f£(x)<0, f(x) 0P8R ;
(a, +o0) b, F(x)>0, f(x) RETEIERIG . oo 1245
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fift: (1) AB - AC =20 = bccosA =20, Sy ue= 1043 = %bcsinA =103,
PHEHFHIRIE . tand = /3 =5 LA = 600, ++++++ssrsrsssssnserrrrrraeaeaesassasiiiiiiiteierteeeaaeaeeaaanns 4%
—_— —_— — |2 —
(2) *OWS, #LBOC =224 =120°, OB - OC =| 0B| x(-i)=-ﬁ:>\03\=i.
2 6 J3
HﬂEEZXHEIEﬂ%D .a :2R:£:>a:7. ......................................................... 12&}.
sin A J3
fi: (1) %e=+3k, AD =2k, b=23k,
SAAB(,':SAABD+SAADC’
1, . 1 A 1 . A
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2bcsmA 2|AD| csin 2|AD| bsm2
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ﬁsm?:smA
A . A 4
\/§S1n5—2s1n2c0s2
4_v3 4 L4
cosz— 5 26(0, 2),
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2 6’ 3 S
(2) 1 (1) Al. £BAD = 30°,
ABADW', BD* =3k> + 4k> = 2 - /3% + 2k - cos30° = k y
= BD =k, DC =2k, Witfgz=£A4ABC =90°, LC =30°,
P/ ABM =0, AABMW, . b
AM _ 4B _ 3k
sinf sin (150° - 6) sin (150° - 9)’ B D c
acM . AM __Ac :.zﬁk ,
sin (30° = 0) sin (120°+ ) sin (120°+ 0)
..................................................................................................................... 7§:}.
spagm . SIN(30°—0)  sin (1202 £0) _ sin(120°+60) y;
PR : =0 2sim(150° - 0)  2sin (30° + 0) =
2(%00520 - %sin20) = sine(gcose - %sin@) = 2tan’0 + /3 tanf - 1 =0 = tan 0 =
-3 /11
4 9’
. -3+
Hjﬂl‘fﬁﬁ, E&tan@:% ..................................................................... 12%
I I . b 5 b B 3 -
fitt: (1) H(2,E)1lﬁf\f(X)ﬁ$$ﬁﬁ1ﬁ: 2a+§—5, CIX+;22V\/a _,\/€:>ab—§, (RS
a=l a=é 3
Iﬁgﬁ% 25‘?‘ 4, Elﬂb<4af§=: a:Z’ D = Q. ettt 45}.
b=3 |b=2
- 3 2
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5
=(=x. + =) -
(4x0 xo) 8

EEe

22 it

He=x-2lnx=h(x)1: h'(x)=1 -

5 2
4 X,

(Zxo

x,+—-4=0, Bllx,=

+£)+18=(§x0+x£—4)2+22
0
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(1) f(x)=¢e ™+ (x-2Inx) +m,
Ax-2Inx=¢, f(x)=g(t)=e +t+m, g (t)=¢e+1>0, Mg(r)NHhEpR%EL,

Mite[2-2n2,

eZ

'.?+2—2ln2+m<0:m<2ln2—2—z.

2 x-2

= h(x)=

+ ), g(t){ﬁb}ﬁjﬁ[%z-l- 2-2In2+m, + o),

eZ

(2) x,, x, =X = 2Inx = A AR,

x, - 2Inx, =1,

Bk x, +x, >4, HIUIE:
RIAIE: 1

R -

p(s) = -

B

X, =2Inx,=t=(x, - x,) = 2(lnx, = Inx,)= 0=

x) _

2 1

- _Inx, - Inx,
~ »
x, +x, 2 X, =X,

( -D

I 2(x, -

1

Ins >

4

2(s -1
s+ 1

X, t X,

)

(s>,

_ (s-1y

, é\—z—s(s> 1),
ﬁ 1

Xy

+1

2(s — 1
Sp(s)=tns - 202D (>,

AT R IE

(s+ 1)

s(s+ 1)

>0, #p(s) AR, = p(s)>p(1)=0
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h(2)=2-2In2,

e /MEHR V2,





